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170.901
131.339
90.980
4.55%
o 3.20% 3.02%
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SCl =22 MIA 12¢, TIRIEH?] 1%==2 162, NSPHE=2 16¢] =&

(e, %)

— SCl=2 (2017) QIEA1% =R (2007—2017) 3o akstA'E(NSP) (2013—2017)
= = Fab s HRE =4 Fabs Hee =2 Fab s Hee
o= 1 439,781 25.51 1 74,400 50.19 1 18,034 71.88
= 2 345,345 20.03 2 23,869 16.10 4 2,365 9.43
g 3 136,231 7.90 3 23,469 15.83 2 3,999 15.94
=¢ 4 118,447 6.87 4 18,264 12.32 3 3,601 14.35
o= 5 82,797 4.80 12 7,268 4.90 6 1,765 7.04

m2tA 6 79,879 4.63 6 12,029 8.12 5 2,210 8.81
FHLICH 7 74,915 4.35 5 12,184 8.22 7 1,651 6.58
O|Ef2|ot 8 73,825 4.28 8 9,553 6.44 " 1,026 4.09
Q= 9 71,504 4.15 17 3,396 2.29 25 258 1.03
sF 10 71,218 4.13 7 10,419 7.03 9 1,259 5.02
AT 11 63,201 3.67 10 8,046 5.43 12 933 3.72
st= 12 60,529 35l 15 4,369 2.97 16 592 2.36

FEXM2017EE WD |IHER S0
* 3riubstE : Nature, Science, PNAS(O| =& 1tsHS| 2)
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HITIRHC =Q R&D AKY ATH=S) H|m

(21, %)

e A =
o SOl =2a 2 F ZHES SCl =2
=2 HIE(%) oA IF
1kt | &2 H|5H 726 bt 450 62 4.95
7|=ET 15,049 4.12 4,107 27.3 5.09
7| &7 5214 5.23 1,176 22.4 6.34
ARk 1,028 251 178 17.3 3.2
7{cHopEr et 267 2.72 77 28.8 3.25
O|Z 2oLt HTLR|2 9,235 3.01 2,254 24.4 3.72
QIZ LS| EOLEtE HTLK| 8 460 2.36 193 42 3.03
CHAMA R RIR|(B, TF) 31,979 3.48 8,435 32.06 4.26
SCl =2 IFas H|u - ZHBE=2
- (2016) HA=2
6
5
SCl
=82 4
an ] e — 3.01 348
2 . 2.36
N
0 T T T T T T
71 7| EHT AHT|S 2uxt2 Pl T 0|20} Q12 AS| HAARS
2R)5} e e Che slaoin sfaoin

%EX:2016 O|AHAZUSIE FRATDHLAY HRUZHETA, 2016 WS FQ ATHLAY HA2AH BN
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